S L MCB-III CAYMET ANTENA
d’éﬁﬁ 7’; z Ao =cremmmmrnnc =
ERiREREAE

HEVEITVWZEE, MICHOAESTENET,
BRICHBFENWZELTZHIC

CIERDHTIC COEERIAE E L < BFTHD L. EULVMERSETTERAT S,
COEURERIAE (IMBIRE S (CTEVWELEITD LS. RUICHRELTTFSL.

EREODEER

O AEMITAVEEAN—RXELTHETESNTHEDEIDT, MOBARTITERCRSRNTTE0.
2 O TJEE/APR D KFEASMI20°83H5MICRT A T+ V7 —%KRD> CERT =L

@ BN IARRDERZEHIZI T\,

O YA MMEINRNKD., BEEMRIL MEUDHD EFFDFFTTTER T,

O I X NEBEDRIIC, BEDIAVHU>MD ER-ZARICHESNTHD. BRICEANRWC EEERLUTTFE0,
OARHBEMAIT D EICK D TEULEMADE - IBICDVWTEHEEEBVWVNIREITDOTIT TE T,

o TERECHAHI CTHAIRET T,
07 T RMHEICRBTE3ABERRALTLEY,
OERICHEVAREND > EMIZITO>TLET,

fERTIE

1. 7L bEZE TRIOBEHII TRZESE(ICLTIHREALET,

2. BREIDIHHIE. TERRFMONEKECIRDO> TVDIEERAT TS,

3. BElEENNCEEI L. 91 VRF/NATERDBX INRN—RDLCHAV—HEDEFT.

4. EEHABNARBNLS(CEE - BEL. TNMSEFHEDOR—IL - IAMER—ILRIFICHALET. FERE. BFHFEOVILE

EIEMRIL MEHDBCRED LS ICLTTE0.

* EENHD. FLEVAMEWE, R-ILRFEIZTEFFFEVICSWVEE, BENL MY EKECRTZENTSE, FENE
B(TIEDFRT,

5. IR—ILZTOEDEEE(CIIC. BEERIL MEANTEWZDENRNKS(CULIZE. Ry M LoHD EfdfTEY.

6. KDULOMDEET BHEEEF. RTA DAV —ZERDCEZREILTTF S,

BFHFEDIR—ILELIEFIA S

-
(R

(DASBLED) A TREAT ZHE

— — ) >
31 CHME ERO4 LTS AT . )

EIEMAMRNIL b
M8x30

IR—ILRIFICAN, #RIL bz
N CORITEBUTTFEL,

. IR—ILZ S
IR

NR—2ZR
BFv b
EIEBIARIL e - &
M8x80 BEEX A MR : $34 - d50 mm
BHAIEEEE AL 10kg (BFEHFEDTR L - R—ILICK>TEILULET. )
AAEE : #9 4.3k
SA VRIS AT 165 g
' - T x535x400 mm
(Eﬂ(fft&)%nﬂﬁ(;\ ;%-5%5 n& RN I=T /\
CLCEAmETT. ) REYVE : JARtERHOE
[RIREHBFAN] (725 —5—EX]
HEREEBONI|[ENMRELLEE. BS(IERAZPRIELTFEL, - BRROIDK - 1818 - I8, DIUERAEREOSEIBAEE UTH
*{fﬁi%%(l?éi LTlE BASNZRGEFRZ Y —ERIBYEFET RHREAELTENETDCT. BIEDIRSELE(CTHEB TS0,
THHT S0, B i - BELQRESEICBVTEELTHSDEIN. AN—FEASL S
f\ﬁgfgg—‘ RUBPDEHE LUERBIRNZE RN ZZEF T KB NFELES. CHEBAVERWVERSECSHEITE,

m REE DD, FERSARSIUIMRZEEIT D ENDDEIDTITHET S,

OXy MRS

T336-0026 HER =L\ oFmmXit4-18-2

TEL : 048-839-3131(f) / FAX : 048-839-3136

URL : http://www.comet-ant.co.jp/ Printed in JAPAN. 2nd Version
Copyright (C) 2012 COMET CO.,LTD. All Rights Reserved.



CAMET ANTENA

M‘ B — I I I Drive-on Portable Mast Mount

Thank you for your purchasing our product.

Instruction Manual

This product is made under the stringent quality control. Should there be any breakage in
transit, please do not hesitate to contact the shop you purchased this product.
For your safety, read this manual carefully for proper handling and operation before using.

m PRECAUSTIONS

MCB-III is drive-on mast support base plate. Do not place any other things on the base plate.
MCB-IIl requires three guy wires anchored 120 degree apart.
Do not use the unit in strong winds.
Make sure to secure the unit with two clamp bolts.

Before inserting the mast, make sure to drive the vehicle on to the base plate.
NOT RESPONSIBLE FOR ANY DAMAGES TO VEHICLES.

@Easy mounting with NO tools.
@Fold-over feature makes mounting antennas easy and fast.
@Hot-dip galvanizing for corrosion control

How to use

1. Assemble the unit with the bolts provided, following to the assembly diagram.

2. Select a flat place.

3. Drive slowly the vehicle on to the base plate.

4. Make sure the unit securely fixed by the vehicle. Then, insert the mast into the socket.

* If you insert the mast with the antenna, remove either one of two clamp bolts to tilt the socket horizontally. Then, insert the mast
with the antenna into the socket.

5. Secure the unit in the vertical position with the clamp bolts. Make sure to tighten the wing nut.
6. Pull the guy gently to fix the mast in the vertical position.

Your Pole (or mast)

Protective Plate
. (Remove it when inserting
[Assembly Diagram 1 $45 or more pipe.)

Clamp Bolt M8x30 <

> Insert this into the socket, and put
J the axial bolt through this hole.

Collapsed back and forth by

Socket
- removing clamp bolts

Clamp Bolt M8x80
Side Plate

) > L, Base Plate
Wing Nut

. /
Axial Bolt M8x80 _

Wheel-lock pipe

Specification

Mast Diameter : 34¢ — 500

Max Antenna Weight : approx 10kg, but depending on your mast.
Weight : approx.4.3kg

Dimension : 165x535x400mm

[ Maintenance ]
Y¢Stop the use of this antenna immediately if you see the slightest trouble, and ask the local shop you purchased this product.
Make sure that the product works normally before operating.

[Maintenance/After-Sales Service]

Always check the unit before using. Do not use it if you see the slightest trouble. We provide the replacement parts for the damages by
unintentional accidents or for deterioration with long-term use. Please ask the local shop you purchased this product. Contact the shop
you purchased this product.

@ Specifications or appearance is subject to change without notice.

COMET CO.,LTD.

4-18-2, Tsuji, Minami-ku, Saitama-shi, Saitama-Pref, 336-0026, JAPAN
TEL : 81-48-839-3131 / FAX : 81-48-839-3136

URL : http://www.comet-ant.co.jp/englis h Printed in JAPAN. 2nd Version

Copyright (C) 2012 COMET CO.,LTD. All Rights Reserved.





